# LAPLACE TRANSFORM SOLUTION OF HIGHER ORDER INITIAL VALUE PROBLEMS 

Adebisi A. lbrahim ${ }^{\text { }}$ \& Rebecca O. Osinowo ${ }^{\text {T, }}$<br>${ }^{1}$ Department of Mathematical Sciences<br>Oduduwa University, Ipetumodu<br>Email: adebisiibrahim97@gmail.com<br>Corresponding author: Adebisi A. Ibrahim


#### Abstract

$\overline{\text { This paper considers the derivation of higher order Laplace transforms. The derivations were obtained }}$ from lesser orders and progressively to the sixth order and then generalized. The higher order derivations were then used in the solution of higher order initial value problems (IVP) of orders three to six to illustrate the robustness of Laplace transform solution of ODEs. The solutions were consistent with the given equations which show that the method is valid for higher order IVPs.


Key Words: Laplace Transform, Ordinary Differential Equations, Initial Value Problems

INTRODUCTION
Differential equations arise from the modeling of physical problems in several fields. The solution technique adopted varies as the problem. The analytic and numerical solution

Methods of ODEs have been extensively dealt with in several literatures.
Consider the solution of the nth order initial-value problem

$$
\begin{equation*}
y^{(n)}=f\left(x, y, y^{\prime}, y^{\prime \prime}, \cdots, y^{(n-1)}\right) \tag{I.I}
\end{equation*}
$$

with the initial conditions
$y(0)=y_{0}, y^{\prime}(0)=y_{0}^{\prime}, \cdots y^{(n-1)}(0)=y_{0}^{(n-1)}[3]$
An $n$th order linear ordinary differential equation (ODE) of the form
$a f^{(n)}(x)+b f^{(n-1)}(x)+c f^{(n-2)}(x)+\ldots+q f(x)=w(x)$

Where $a, b, c, \ldots, q$ are constants or functions of $x$ can be solved if a general form of $f$ is obtained with its associated integration constants which can be obtained when
The given boundary conditions are applied. [6], [r].

Laplace transform provides an efficient way of solving (I) by applying the boundary conditions from the onset. The method converts the given ODE into an algebraic equation. The algebraic equation so derived is then solved algebraically and converting the solution via the table of inverse

Laplace transform. Again Laplace transform is more efficient in solving problems represented by discontinuous functions. [6].
In this paper, we consider the solution of higher order initial-value problems (IVPs) by Laplace transform.

$$
L\{f(t)\}=\int_{0}^{\infty} e^{-t x} f(t) d t=F(s) \quad|\mathrm{I} .4|
$$

Where $f(t)$ is a piecewise continuous function.
Sufficient Condition: A sufficient condition for the existence of Laplace transform is that
(a) $f(t)$ is piecewise continuous
(b) $f(t)$ is an exponential of order ' $a$ '
Lemma: A function $f(t)$ has a Laplace transform if for all $t \geq 0$,

Definition: The Laplace transform of a function $f(t)$ is the half range nonnegative integral defined as
$|f(t)| \leq \alpha e^{k t}$ for some constants $\alpha$ and $k$.
Theorem: If $f(t)$ is defined and piecewise continuous on every finite interval on the semi axis $t \geq 0$ and some constants $\alpha$ and $k$, then the Laplace transform $L\{f\}$ exists for all $s>k[5]$.

## MATERIALS AND METHODS

The Laplace transform of the function $f(t)$ is defined as (2) above Hence the Laplace transform of the function $f^{\prime}(t)$ be defined as

$$
L\left\{f^{\prime}(t)\right\}=\int_{0}^{\infty} e^{-s t} f^{\prime}(t) d x(2 . \mathrm{I})
$$

Integrating (3) by parts yields

$$
\begin{aligned}
& L\left\{f^{\prime}(t)\right\}=\left.e^{-s t} f(t)\right|_{0} ^{\infty}+s \int_{0}^{\infty} f(t) d t(2.2) \\
& =\left.e^{-s t} f(t)\right|_{0} ^{\infty}+s F(s) \\
& =s F(s)-f(0)
\end{aligned}
$$

Let $g(t)=f^{\prime}(t)$ then $g^{\prime}(t)=f^{\prime \prime}(t)$ and $g^{\prime}(0)=f^{\prime \prime}(0)$
We then define as in (4)
$L\left\{f^{\prime \prime}(t)\right\}=\int_{0}^{\infty} e^{-s t} f^{\prime \prime}(t) d t$
Let $L\{g(t)\}=L\left\{f^{\prime}(t)\right\}=G(s)$ then we have
$L\left\{g^{\prime}(t)\right\}=L\left\{f^{\prime \prime}(t)\right\}=s G(s)-g(0)$
$L\left\{f^{\prime \prime}(t)\right\}=s[s F(s)-f(0)]-f^{\prime}(0)$
$=s^{2} F(s)-s f(0)-f^{\prime}(0)(2.4)$

Next, we define

$$
\begin{aligned}
& L\{h(t)\}=L\left\{g^{\prime}(t)\right\}=H(s) \\
& L\left\{h^{\prime}(t)\right\}=L\left\{g^{\prime \prime}(t)\right\}=s H(s)-h(0) \\
& =s L\left\{g^{\prime}(x)\right\}=s\left[s^{2} F(s)-s f(0)-f^{\prime}(0)\right]-f^{\prime \prime}(0) \\
& =s^{3} F(s)-s^{2} f(0)-s f^{\prime}(0)-f^{\prime \prime}(0) \\
& \quad L\left\{f^{\prime \prime \prime}(x)\right\}=s^{3} F(s)-s^{2} f(0)-s f^{\prime}(0)-f^{\prime \prime}(0)(2.5)
\end{aligned}
$$

Again we define
$L\{m(t)\}=L\left\{h^{\prime}(t)\right\}=M(s)$
$L\left\{m^{\prime}(t)\right\}=L\{h "(t)\}=s M(s)-m(0)$
$=s L\left\{m^{\prime}(x)\right\}=s\left[s^{3} F(s)-s^{2} f(0)-s f^{\prime}(0)-f^{\prime \prime}(0)\right]-f^{\prime \prime \prime}(0)$
$L\left\{f^{(i v)}(x)\right\}=s^{4} F(s)-s^{3} f(0)-s^{2} f^{\prime}(0)-s f "(0)-f^{\prime \prime \prime}(0)(2.6)$
which is the Laplace transform of a fourth derivative and generalize for the nth order as
$L\left\{f^{(n)}(x)\right\}=s^{n} F(s)-s^{(n-1)} f(0)-s^{(n-2)} f^{\prime}(0)-s^{(n-3)} f^{\prime \prime}(0)-\cdots-s f^{(n-2)}(0)-f^{(n-1)}(0)$
(2.7)

Hence if $f^{(n)}$ is piecewise continuous and the functions $f, f^{\prime}, f^{\prime \prime} \cdots, f^{(n-1)}$ are all continuous, then (6) holds [2].
The solution technique implies that, there must exist also an inverse
RESULTS AND DISCUSSIONS In this section, we consider four examples of linear ordinary differential
$y^{\prime \prime \prime}+y^{\prime}=-2 e^{-x}, y(0)=1, y^{\prime}(0)=0, y^{\prime \prime}(0)=1$
Solution:
equations of orders three, four, five and six in that order, all of which are initial-value problems (IVPs).
Example i:

## Laplace Transform Solution of Higher Order Initial Valued Problems

Given $y^{\prime \prime \prime}+y^{\prime}=-2 e^{-x}$ and the initial condition $y(0)=1, y^{\prime}(0)=0, y^{\prime \prime}(0)=1$ we take the Laplace transform to have
$L\left\{y^{\prime \prime \prime}\right\}+L\left\{y^{\prime}\right\}=-2 L\left\{e^{-x}\right\}$
This gives
$\left[s^{3} F(s)-s^{2} y(0)-s y^{\prime}(0)-y^{\prime \prime}(0)\right]+[s F(s)-y(0)]=\frac{-2}{s+1}$
Substituting the initial conditions yields
$\left[s^{3} F(s)-s^{2}-1\right]+[s F(s)-1]=\frac{-2}{s+1}$
$s^{3} F(s)+s F(s)-s^{2}-2=\frac{-2}{s+1}$
$\left(s^{3}-s\right) F(s)=s^{2}+2-\frac{2}{s+1}$
$F(s)=\frac{s}{\left(s^{2}-1\right)}+\frac{2}{s\left(s^{2}-1\right)}-\frac{2}{s(s+1)\left(s^{2}-1\right)}$
$=\frac{s^{3}+s^{2}+2 s}{s+1}$
Resolving into partial fractions gives
$F(s)=\frac{1}{s+1}+\frac{1}{s^{2}+1}$
Taking the inverse Laplace transform gives
$f(x)=L^{-1}\left\{\frac{1}{s+1}\right\}+L^{-1}\left\{\frac{1}{s^{2}+1}\right\}$
$=e^{-x}+\sin x$

Example 2:
$y^{(i v)}=4 y^{\prime \prime}-3 e^{-x}, y(0)=2, y^{\prime}(0)=1, y^{\prime \prime}(0)=5, y^{\prime \prime \prime}(0)=7$
Solution
$L\left\{y^{(i v)}\right\}=4 L\left\{y^{\prime \prime}\right\}-3 L\left\{e^{-x}\right\}$
$\left[s^{4} F(s)-s^{3} y(0)-s^{2} y^{\prime}(0)-s y^{\prime \prime}(0)-y^{\prime \prime \prime}(0)\right]=4\left[s^{2} F(s)-s y(0)-y^{\prime}(0)\right]-\frac{3}{s+1}$
$\left[s^{4} F(s)-2 s^{3}-s^{2}-5 s-7\right]=4 s^{2} F(s)-2 s-1-\frac{3}{s+1}$
$s^{4} F(s)-2 s^{3}-s^{2}-5 s-7-4 s^{2} F(s)+2 s+1+\frac{3}{s+1}$

$$
\begin{aligned}
& \left(s^{4}-4 s^{2}\right) F(s)=2 s^{3}+s^{2}-3 s+7-3+\frac{3}{s+1} \\
& \left(s^{4}-4 s^{2}\right) F(s)=\frac{2 s^{4}+3 s^{3}-2 s^{3}}{s+1} \\
& F(s)=\frac{2 s^{4}+s^{3}}{(s+1)\left(s^{4}-4 s^{2}\right)} \\
& F(s)=\frac{s(2 s+1)}{(s+1)(s-2)(s+2)}
\end{aligned}
$$

Resolving into partial fractions gives

$$
F(s)=\frac{1}{s+1}+\frac{1}{s-2}
$$

Taking the inverse Laplace transform gives
$f(x)=L^{-1}\left\{\frac{1}{s+1}\right\}+L^{-1}\left\{\frac{1}{s-2}\right\}$

$$
=e^{-x}+e^{2 x}
$$

## Example 3

$$
\begin{aligned}
& y^{(v)}-y^{\prime}=30 e^{2 x}, y(0)=3, y^{\prime}(0)=0, y^{\prime \prime}(0)=y^{\prime \prime \prime}(0)=6, y^{(\mathrm{iv)}}(0)=18 \\
& L\left\{y^{(v)}\right\}-L\left\{y^{\prime}\right\}=30 L\left\{e^{2 x}\right\} \\
& {\left[s^{5} F(s)-s^{4} y(0)-s^{3} y^{\prime}(0)-s^{2} y^{\prime \prime}(0)-s y^{\prime \prime \prime}(0)-y^{(\mathrm{ivv})}(0)\right]-[s F(s)-y(0)]=\frac{30}{s-2}} \\
& {\left[s^{5} F(s)-3 s^{4}-6 s^{2}-6 s-18\right]-[s F(s)-3]=\frac{30}{s-2}} \\
& s^{5} F(s)-3 s^{4}-6 s^{2}-6 s-18-s F(s)+3=\frac{30}{s-2} \\
& \left(s^{5}-s\right) F(s)=3 s^{4}+6 s^{2}+6 s+15+\frac{30}{s-2} \\
& \left(s^{5}-s\right) F(s)=3 s^{4}+6 s^{2}+6 s+15+\frac{30}{s-2}
\end{aligned}
$$

Resolving into partial fractions gives

$$
F(s)=\frac{1}{s-2}+\frac{2}{s+1}
$$

Taking the inverse Laplace transform

$$
\begin{aligned}
& f(x)=L^{-1}\{F(s)\}=L^{-1}\left\{\frac{1}{s-2}\right\}+L^{-1}\left\{\frac{2}{s+1}\right\} \\
& f(x)=e^{2 x}+2 e^{-x}
\end{aligned}
$$

$$
\begin{aligned}
& \text { Example } 4 \\
& y^{(v i)}+2 y^{(v)}=64 e^{2 x}, \\
& y(0)=y^{\prime}(0)=1, \quad y^{\prime \prime}(0)=4, \quad y^{\prime \prime \prime}(0)=0, \quad y^{(\mathrm{iv})}(0)=16, \quad y^{(v)}(0)=0 \\
& \quad\left\{\left\{y^{(v i)}\right\}+2 L\left\{y^{(v)}\right\}=64 L\left\{e^{2 x}\right\}\right. \\
& {\left[s^{6} F(s)-s^{5} y(0)-s^{4} y^{\prime}(0)-s^{3} y "(0)-s^{2} y y^{\prime \prime \prime}(0)-s y^{(\mathrm{iv})}(0)-y^{(v)}\right]} \\
& +2\left[s^{5} F(s)-s^{4} y(0)-s^{3} y^{\prime}(0)-s^{2} y "(0)-s y^{\prime \prime \prime}(0)-y^{(\mathrm{iv})}(0)\right]=\frac{64}{s-2} \\
& s^{6} F(s)-s^{5}-s^{4}-4 s^{3}-16 s+2\left[s^{5} F(s)-s^{4}-s^{3}-4 s^{2}-16\right]=\frac{64}{s-2} \\
& s^{5}(s+2) F(s)=s^{5}+3 s^{4}+6 s^{3}++8 s^{2}+16 s+32+\frac{64}{s-2} \\
& \\
& F(s)=\frac{s^{6}+s^{5}-4 s^{3}}{s^{5}(s+2)(s-2)} \\
& F(s)=\frac{s^{3}+s^{2}-4}{s^{2}(s+2)(s-2)}
\end{aligned}
$$

Resolving into partial fractions gives

$$
F(s)=\frac{1}{s^{2}}+\frac{1}{2}\left(\frac{1}{s-2}\right)+\frac{1}{2}\left(\frac{1}{s+2}\right)
$$

Taking the inverse Laplace transform

$$
\begin{aligned}
& f(x)=L^{-1}\{F(s)\}=L^{-1}\left\{\frac{1}{s^{2}}\right\}+\frac{1}{2} L^{-1}\left\{\frac{1}{s-2}\right\}+\frac{1}{2} L^{-1}\left\{\frac{1}{s+2}\right\} \\
& f(x)=x+\frac{1}{2} e^{2 x}+\frac{1}{2} e^{-2 x} \\
& f(x)=x+\cosh e^{2 x}
\end{aligned}
$$

## CONCLUSION

The solution of initial value problems using Laplace transform has been demonstrated for higher order differential equations (ODEs). The simplicity of the method is seen in the incorporation of the initial conditions at the onset which reduces the ODE to an algebraic equation, thus making it time efficient as the results obtained
can be read from inverse Laplace transform tables. Also Laplace transform gives the exact solutions of the given problems.

## REFERENCES

I. Dass, H. K. Advanced Engineering Mathematics $S$. Chand \& Company Ltd. New Delhi 2013, pp. 885-927.
2. Dawkins, P. Differential Equations http;//tutorial.math.lamar.edu./ terms.aspx. 2007, pp.i8o-235.
3. Davis, M. E. Numerical Methods and Modeling for Chemical Engineers John Wiley and Sons, New York 1984,pp. I-3.
4. Edward, C. H., Penny, D. E. Elementary Differential Equations Pearson
8. York. i991pp. ro97-iII6.

Education lnc. New Jersey. 2008pp.226-316.
5. Kreyszig, E. Advanced Engineering Mathematics. John Wiley and Sons, New York, 201I, pp. 203-253.
6. Stroud, K and Booth, D. J. Further Engineering Mathematics. Palgrave, New York. 2003, pp. 48, 112.
7. Stroud, K. Engineering Mathematics. Palgrave, New

